Debt Policy at UST
Consider the following questions.  
1. What are the primary business risks associated with UST?  Think about both the operating risks of the company and asset risks.  What are the strengths of the company?  Evaluate both questions from the perspective of a bondholder.  You may want to back up any discussion with some numbers.
2. Do you think the ban on advertising helped or hurt UST?  Why?
3. Why is UST considering a leveraged recap after such a long history of conservative debt policy?

4. Calculate the incremental effect on UST shareholders, assuming that UST undertakes the entire $1billion recapitalization immediately (Jan 1, 1999).  In other words, determine the value of the shares of UST after they do a leveraged recap.  Make sure you provide details for any calculations that you make.   Use the following assumptions.

a. The appropriate tax rate for UST is 38% and EBIT is expected to grow by 5% in 1999.

b. Prepare pro-forma income statements for 1999 under various assumptions about UST’s Bond rating after the recap.  Evaluate UST’s interest coverage and determine a likely bond rating for the company after the recap.

c. For the valuation analysis assume that the $1billion in debt will be permanent (i.e., UST plans to keep $1 billion in debt on the balance sheet in perpetuity).

